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N5EUIUNTT (E1) uagATUTEANSANURINATIS (E2) Muinaeiunnsgu 75/75 Usinguany
M13199 1

a a

AN9199 1 USELANTNINVILUURNLES LN wEN15:28UlUSWASUNEIT E1US VLN AN IS AU
a a g.J/ 5
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NANISNAABUYDYTENINUTIY
AEIN (40 AzLUL) HAGOUNAIUTEU
il 1 | el 2 | 5w
1 15 16 31 33
2 15 14 29 32
3 16 16 32 34
4 15 14 29 31
5 15 17 32 34
6 16 15 31 37
7 17 15 32 33
334 216 234
Aady 30.86 33.43
Souay 77.15 83.58
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ALY MU (X) S.D. t Sig
UnANYI
ATLUUNRIS YU 7 33.43 4.03 46.491 .000
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AT N (x) S.D. t Sig
ADULSYU 7 16.57 4.03
— -17.995% .000
P GAIETI 7 33.43 1.90

*fifadfyn1eadffiseiu 0.05 | t (df = 6, 0.05) = 1.943
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